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Q1. Simplify the following: 65
(a) V6 x+3 (b) V15 ++3 (©) 248 xA7
(d) 3V8++2 (&) 4233 ® 6v12+343

Q2. -Simplify these surds: ) 66
@30 (b Vi§ © V% @ v72
(@ V12 (® V20 (2) 424 (h) 3v27

Q3. Simplify these expressions: | . 67
@ 5V2-3v2 () 24543345  (c) 6410 =45 -3410
(@ 43+2412 () 9WI2-2475  (©) 5v80 +54125

Q4. ‘Bxpand and simplify: 68

@563 ® Y2(V3-1) (©) VI0(4-2+5)

@ 22(V5+5). @ T(T+3)  (® 246(7-345)

Q5. Expand and simplify: 68, 69
@ 2+47)3-45) © (L-VZ)14+2) () (242 +3)"3 -1)
@ME-4f @ 2~5)4+248) © (33 +2)(347~2)

Q6. Express the following with rational dc'no.mi_natprs: 70

1 5 10 : N7
— b) — — d) —
(a)ﬁ ()\/5 (C)zﬁ ()1/3 |
7 243 3-42 5 +4
Q7. Rationalise the denominator in each expression: 71
1 5 5 7
b) —— . (o) Y2 d
@ 1++2 ®) 63 © V343 @ 376 +2
© 3 2 10 5++3
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QL.

Q2.

Q3.

Q4.

Qs.

Qs.

Q7.
08.

Q9.

Simplify:
(a) 3448 () 2454 - (©) 496 (d) 24108

CE G \E- @z @

Simplify: : '
(a) 520 - 2V18 =45 (b)) VI8 +/32 -/63  (c) 108 — v24 ++/27
(d) /500 +24/45 =80 (€) 2v4x +5v9x =X (£) x,/16y =%y + 3,0y

Expand and simplify:
@ (245 +343)° () (23 ++/6)(34Z = 3)
© (V2 -2B) 42 +243) (@) (36 ~247)(246 - 343)
@) x/y(6vx - 2/) (@ (3% = oy )l + 34y)
Express the following \?ith rational denominators: \
@ \3-4/35 ®) V6 =2 © 25 -343
335 +243 26 - 42 245 +343
" 3 2-45 ® x +4fy
2% =3[y 3«/—+ 4.fy dx =2.fy
Express the following as single fractions with rational denominators:
1 " V3 2 @ L V5 A5
2«/" 52 «EB 3 f «f 1
1 3

J‘+2 “h2 B2 TEe 2«]‘+3 NPT

1
evaluate 34:2 +—

«/_—f-f x
;m/_\f_

Simplify: J_ Tox (Express answer with a rational denominator)

If x=

Expand and simplify: (3\/5 + @)2_(3 - @)2
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QL.
Q2.
Q3.
Q4.
Qs.

Q6.
‘Qr.
(@ _9—5~f§ © +5+43 (g) SJ§+§J§ _ (h)'im‘+ 53

@NZ M5 @4V @6 © 1246 (0 4

@52 MN2 W5 @DNZ @243 ® 25 (@ E o) W3

@ 22 () 5+33  (© WI0-445 (d) 843 () 33 (f) 45V5
@5V6+15 ®V6-+2 (40102 (@210 +1042 ()14 +34T (£) 14/ - 36
@6-2V5+3V7-435 (1) -1 L OA6-22+3/3-3

(d) 2286 ©8+43-45-2J15 (914
@® % b A5 © 53£ (0 lf— (e)”? ® %353 ®
@31 30+5V3 35 -+15 o 26 -14

32 -2 V154443 |
;O 6

W=  © = 0=

2 11

Level 2 — Surds

Ql,

Q2
Q3.

Q4,

Qs.

Q6.

Q8.

@123 O V6 ©) 1666 Q1243 @ 245 (@ —‘? ® 2—5"9_— M) xvz
@ W5-642  (0) IN2-37T @) 9W3-246 @125 @ 18x (O 1255

(a) 47 + 12415 (b) 6v6 + 63 - 32 —6 @ 20
(@D36-272 - 42+ 631 (6) bufuy—2xy 0% -y
@ 5J1‘§3— 21 : ® —1-2- 3 | © 12\/1—’5] - 47
L 6 10y ' 6Vx -8y -35x +4f5y 2% +3xy +y
d) ———= - (e) - H ———-=
4x ~9y 9x - 16y 8x—2y
2 +45 Wi
@5k @ HO+SBE
10 6 84
© 12446 ® 249 - 16942
2 41
70+ 16410 ‘ 1242
—_ Q7.
9 4
1246 Q9. %



